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8-119. = 1.088; 8.8% monthly increase; y = 1000(1.088)"

8-120. CD =22, BC =7, and ED = 6; the perimeter is 22 + 14 + 12 = 48 units
8-121. See below:
afir)=8(5

b. See graph below.
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8-122. See below:
a.x=28.5°; Triangle Angle Sum Theorem
b.x=23°; relationships used varies
c.x=68° relationships used varies

8-123. See below:

14
Sk

b.3
c.6
d.2

e never; (0, 3); See graph below.
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8-124. See below:
2.12,7,2,-3,-8:1(n) = 17~ 5n
b.32,16,8,4,2; a,= 64(3 )"

8-125. Let x represent the amount of money the youngest child receives. Thenx +2x +x+35=775;
$185, $370, and $220.




